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1.
If two inputs are complements in production

A) then the inputs can not be used at the same time.

B) then the inputs can be either gross complements or gross substitutes.

C) then the inputs are gross complements.

D) then the inputs are gross substitutes.

Ans: C
2. Most of a payroll tax is eventually paid by

A) employers if the supply of labor curve is very inelastic.

B) employers if the labor demand curve is very elastic.

C) workers if the supply of labor curve is very inelastic.

D) workers if the supply of labor curve is very elastic.

Ans: C
